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alphal3_4eX1X:cyclenum {run == 5929}

cyclenum

deltad46_12X4eY:cyclenum {run == 5929}
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cyclenum

run:cyclenum {run == 5929}
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cyclenum
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deltal3_12X4eX:cyclenum {run == 5929}
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segment:cyclenum {run == 5929}
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usl_1X:cyclenum {run == 5929}
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cyclenum

usl_4eY:cyclenum {run == 5929}
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cyclenum
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usl_4aY:cyclenum {run == 5929}
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cyclenum

usl_12X:cyclenum {run == 5929}
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cyclenum
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usl_4eX:cyclenum {run == 5929}
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cyclenum

run:cyclenum {run == 5929}
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usr_1X:cyclenum {run == 5929}
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usr_4eY:cyclenum {run == 5929}
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cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 5929}
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cyclenum

usr_12X:cyclenum {run == 5929}
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cyclenum
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usr_4eX:cyclenum {run == 5929}
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cyclenum

run:cyclenum {run == 5929}
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usl_coil7:cyclenum {run == 5929}
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cyclenum
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run:cyclenum {run == 5929}
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usr_coill:cyclenum {run == 5929}
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cyclenum

usr_coil6:cyclenum {run == 5929}
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usr_coil7:cyclenum {run == 5929}

51805180.551815181.551825182.551835183.55184
cyclenum

4000

3000

2000

1000

o

5931

5930.5

5930

5929.5

5929

5928.5

5928

5927.5

5927

usr_coil4:cyclenum {run == 5929}
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4eX_coill:cyclenum {run == 5929}

%

K

4eX_coil3

51805180.551815181.551825182.551835183.55184
cyclenum

-10

-12

-14

-16

-18

o

I
4l

I
N
o

-15

1X_coil3:cyclenum {run == 5929}
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4eX_coil7:cyclenum {run == 5929}
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yclenum {run == 5929}
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yclenum {run == 5929}
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yclenum {run == 5929}
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K

S S X
bl bl b lon bonlon b

51805180.551815181.551825182.551835183.55184
cyclenum
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12X_coil7:cyclenum {run == 5929}
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run:cyclenum {run == 5929}
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